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| This is a function!

PRI B B L FR R 5 vk X T eR A PR B RADIENRE A AT — e 2 L B
% Z i A %) Python BIARERREL ., 140, int O &5 AT LUK FH P 0 A B9 307 247 3
IR RS, type O BREL AT LAAR R — A X5 2 09 B4 26 A, List O pR AT DL — A AT 24X 1y
G ¥ B 3%, range O BRECAT DUAE B — 48 B A 800 45 . BT I 1Y) ok 8RS B bt 2 HLA R
FE T RE MR P A B, A pR AT LR R e D) T AN T N F I IR A R T
18 B T bR B50E w] AR 7 5 M 7 BTN A R AL B AT DR YT R NI R K F TARRCR . Fr
LA, RER ) 2 > Rl B2 52 BRI B I & o A8 ol AN AT A 1) — 4,

AW EENEW LT 4 AT R E X5 A, 140, 78 Python 1 ok %L
JE W] 5 SCRY o A 7 WP S 4y, 5 3 40 AE 40 ] B A IR S 3 R 0, pR RO 2 S el 2
WH R ECSE s S HCE AL S S 80E 3, SR 80T DU & 2 R 2 B 0 280, 19 n o7 B S 8
KT A BRINE N S8 7S50 R R R0 S 807 A A TR R
W), 76 2 8015 3 1 2 B2 v SO K T AR 28 T 1 2 B00A% 35 RIS 1T AR 2 T ) S 800G ;AR i
A PT3535 VA ok 85, AR 90 722 it 0 SO L B AN ], ) 40 2 S SCTE R BRI 38 2 TE oK BCAE L AT
DR LN S U ol B S s Rl Rt - O N o =i R+ D W e 517 N 1 B 1 =
R E Ze 7 2o 23 30, 38 o 88 )9 ] DL KR R G A RS 4, 2% ) 3 1 19 O gt 2 4 ]
PEAT R 43 a0 fa] 3B 3 09 5 I8 A 48 T — B RR B PR 2L, W lambda 32 3k 2, map A %L filter

HHHEX SEA

IR AN T A G [ O LA R S T B AR P B 2 1 R K AT 7

flo A5k % [ O AE FoA 7 3T T

5.1.1  BAEg M2

BB LA R T B 1 X B e L L X Ry T Oy (AR A A L 2.1 45 eh
A28 T ATEN I R IF P A — 25 00 F5 550, SR REAT B 0 R B (25 0 . A — 0k
PETENZ 2200 L i P AT 7 T 200k 4 5 T 625 TW 9l 45 38 403 PO 0 o WA T 7 70 A 7 1
RO AT DT BT 0l 45 2 AR 5 S — A R B SR T ZE T B AT AR — A
SRS o T BT B LUK ST it P L IR R B

x> HEEN



¥$5FE HBHY

M5 B BB AR — A PR & 77 B 5-1 fos P A 0 D a2
ZERE TR —E AR AR ] 0 A S ZAME . GINITENZEE T W L R
FOE R B SR T AT — A TAT I L SR 6 TR — 1> 6 ITH 2L . & TP
S ATTENR AP Al I . W M . R BERNE L 18 1 H 4 280 il B 74 51 3% 1
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B 51 ARAENSBERRER
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(1) PR B IR 0 43 2 B A AR A Y BRIV 358 7 1 2 8% R S5
(2) PRBCE ST AT RE , B 2 45 T R Il A A 2
(3) PRA AN far 52 B0 3 LE T e, B R BSOS
5.1.2 %L
Python & X pREXHIFEMT .
def WE# (DESFIE]D) -
GO
[return [iR[E{H]]
o def: HIKE ey G HE 1A 5
o RS WIBIEMIERE , B REJE — 6 2 W hn IR AT B AT 5 A AT 32 1 £ B2
KA, RS N LA U /NG FREZ B A BRG] ] T T 2B O
 JBESHNER. RETEE 0N EZ NS, Python TIES RNHTEE LR, 2458
() FH A2 45 B T o I8 FH B 5% G A% 8 5 201
o PREUA . B — a2 A A ARG B
o return: R [ pRELEE A, ATk . pRECRT LAAT IR [IE, o 0T DLWAT 3R mHE , i 0] DL AT
Z AR A, 24 3R [EHE DA o 4 2GR [,
T BRI . def FIPREL A Z A — 25 4% 5 BT LU S8 (H/ N &5 A g
PRI BN B A 08 o A AR R IR OE R
[RGB 5.1 &L —DToREHEMRE, K e WA BT, —3L B8 5 17, A
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1 def center print(content):

2 width = len(content) +5 * 2 #3HE P RR A K

3 print ("="* (width+2)) HITENSE —AT

4 print("|", "™ "% width, "|", sep="") #ATEREE 47

5 print("|", content.center (width), "|", sep="") #ITEIHEINE
6 print ("|", " "% width, "|", sep="") #ATENHE 04T

7 print ("="* (width+2)) AT BN — AT

[RG 5.2 & X—AA R E 0 sREL . HI W& 7 o AR, 2502 R 18] True, 75 W) 5R
[ False,

1 def is leap year(year): # ) Wy — A AE A 2 75 R FE AR
2 if (year %4 ==0 and year $100 !=0) or year $400 ==0:

3 return True

4 else:

5 return False

5.1.3 VA%

BRI B FH 1 77 2R R B4 (S22 51 3R) L LB R T IS AR 5TE S A B, S
BRI — 3, BN 23 S TypeError 4512 .

PRSI I — a8 S 7E oK B L Z a0 A RE A R AR OR B ek B, 2 0
NameError 1% . MAE7EZ A7) 44 sREET , 98 A2 B il — WR0E U R4,

R4l PR B A5 A 3R [, 9 FH oR 8RR 5 2

(1) 7 AR mE A oR SR FH o 38 8 o 5 8 485 SR A o — (B A B

[~ 5.3 JEARE 5.2 B is_leap_yearO) B,

1 result = is leap year(2020)
2 print(result)

(2) WA IR [mE Y pR A . 38 RO FHAE S — 4518 ) oAb HE
[=615.4) AR 5.1 89 center_printO) FREL,

¢« %BEnnEn
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BE5%3]

5.1 UK. & SCRREU 7T LA SH B A — X /IME S

5.2 FUWTL . pRECAY 8 A 45 pR HS0E SORT R B0 1 L 5T EL R B0 JH — i R TTE R AL
E X2 .

5.3 ArasZeksey RBEREM 47

5.4 Python AR E CeRBUY S I A A7 PRECL AL return iR 7

5.5 [T T R ACHS B I LT AR R

def func(x):
return x +2

1
2
3 return x +4
4
5

print (func(3))

5.2 SHAXBS5SHEE

5.1 W B 40 T Python # sRECE LA K o B0 T 78 31X A 3 B v #  K S 80
P . 45 P RKS PR 41 R B ) R B R B — 0, AR S 8. A A 4 R R
SRR T LA K pR RS A 1 B R L

5.2.1 JBESHILS

HRCHHANE: IESME S, IS REREBUE U EE/NE S, B
SANRATAT BRI, HRVER—F SR 2 5 sREUA L 55 2 58 . 1 S5 2 2 78 bR 8
T FH R 52 B A% 326 A E

B, 76 5.1.2 552 X AY is_leap_year() PR ,is_leap_year (year) 1Y year 5 2T
2 R HARME R — R G AR 2 5 R EUARr L 55 2 % . MITE 5.1.3 1Y is_leap
_yearO) BREIA I 1 is_leap_year(2020) "1 #Y 2020 St/ L2 A SLPr(E. ES LS A
P (A8 1 24 W] LUAR [R]0 T DU [A] (B2 BEATFR R AR B & X,

#£ Python 11,5 L BRERI AR ZIE E RS MR B S KA i H & ZB LS
RAIE . S SIS DB YL S 2 B K ESHN, LS DA 24, )

IR R

EEEE YO
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i 522 FF 2 109 BOR A

R AR BRI S O A (05 1 T 3R 1T K B0 BB S 540 S 7 B B8 L B S8 A
{6 2% AT 25 JE B8 9 A 5 5%

522 (iEZE

37 B R0 R B P KR e R ST 5 1 o I % 448 URH 52 2 1 8 VR 8 28 T
%, 0B BRI RS IS A SO — B, T B BRI S 5 —— %, fiE S
B Python H R R 2 55 3 WL A0 B8,

LRGI5.50 5 AN RS0 38 FH 2 58 B0 3 3o 07 5 5 MR A

1 def my func(a, b, c):
2 print("a =", a)
3 print("b =", b)
4 print("c =", ¢)
5
6 my func(20, 30, 40) TR S S AL 4T S
TP i {74 2R
a= 20
= 30
c =40

523 R@ETSE

KBTS B AT DU S0 2098 58 S22 IR S R AR R 248 B 44 0 %
AR PEAT A . SES W R S0 A LA — 2, (502 BOR L 3 1) G5 7 — i ZAE B S
B RN . BT SRR 7 E L 98 S T OGS BB R E

[R6) 5.6 & X — R % I8 3% ek Bl i i O k5 2 BOWAH

def my func(a, b, c):

)
print("a=", a)
print("b =", b)

)

1
2
3
4 print("c=", c
5
6

«CoomEmEEn



5.2.4 MBS

BRINE S 8088 R BUE B, 728 2 91 36 vh 45 o 2 B0ORE R 98 08 % 2 800 BOAEL
BRI ESCTE FH B 6 A BRONE 1 S8 AT AR (A PR A . R AG A B R BRI E ; 1 1H
BF K T 1) (B 46 RO . BRIAE 2 B0y (6 pR B8R T, 7T ol 2D S 8504 328

T 9 Y R AT O 4 2 0 FHBOAME S E B0, print O sRECT Y sep BRINJE 8@
b 2 A% X A W 2 A WA AT 20 E  range O BRELH Y step BRIAN 1 %5,

R AT ABAMASKN DA, RAA AR LR B R R A RO R
S AEAT — A A B 04 A 30 R AR B B IR BOAE AR

[R6 5.7 8 SL— A BROE S 800 sR 5, SR 5 T IZ R 88

1 def my func(a, b, c=5):

2 print("a =", a)

3 print("b =", b)

4 print("c =", c)

5

6 my_func(20, 30) #ARAG NS, S8 c R ABRINME
7 my func(20, 30, 50) AL BT, FH BT 0 1 e B

=20
= 30
c=5
= 20
b = 30
c =50

5.2.5 wBRESE

TR K SR PR IOE SO TE 0 SR IR G print O BRI R i
ANHIIE P BT EN 22 DA X G U AR BT ENAY N E O Al RSB R ik
BB LIRS ERE R ES K E, TERESHAPFERX: “x 8L
BT

* ZRA . FORESHOE D ITCH R TR 2 A IS AL 1 1 S S ORI
oo, FEE XL E A S,

[R615.81 & X —D A ARKEZES B RE /T ERKESHNE N « 28
27 AR U % R R

HEEE0H
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1 def func 1(a, *Db) : #ESHE AT R
2 print("a =", a)

3 print("b =", b)

4

5 func 1(20, 30, 40)

BIFis1T45 3R

a= 20

B RGBS EIE — AT IR W2 2SS JE A5 1 1) B X A7 R
TR, EEE X DO AR LS

[R615.91 & L— 4\%%7”’”& ZRH BRE TR KB S B IE SO xS L
27 R i R R

1 def func 2(a, **Db) : #5E A SHOE A
2 print("a =", a)

3 print("b =", b)

4

5 func 2(20, b=10, c=20, d=30)

BIFistr 453

a= 20

5.2.6 AR RSEGEBD

FEPURELZ M 5550 FF SR G A (A FF 91 o 0 6 3% AR IR A — i
MR RL A B AT PIRIJE S . R G Ao I 4

G S350 BIRS G H 2 51 o 0 1636 AR 4 G A
WAL A TB 5 . M523 0 7 SR R L 20 HUR 1L — A BRI 20 54T 5

DRI 5.001 5 S — i B T8 P2 6 O 91 5 SRR P91 A 6.2
oA < IR

1 def func 1(a, *Db):

2 print("a =", a)

3 print ("b =", b)

4

5  func_1([20, 15, 301, 40, 50) LSNP X4

6 func 1(* [20, 15, 30], 40, 50) FLZ = FHIR G

«1EEEn



a= [20, 15, 30]

b = (40, 50)

a= 20

b= (15, 30, 40, 50)

2 108 14 S 25 0 e S BIOE G2 N K 2 MR A OC B oA DL TREAH N BT 2L TR A DT
) U A 5 A SR DT B UK AR BB 45 %8 S0 S0 T R 2o R L
—PREARIRES IS,
L3RG 5.01 5 SC— R B, I 2% ek 50 38 0 e 9 it £ 2 BBOWR AL L 1 90 ik 0, 2 B0
Y2 W MRS S DO S
def func_2(a, **b):

print("a=", a)

func 2({"a": 5, "b": 0}, c=20, d=30) FLS R FIAG
func_2(**{"a": 5, "b": 0}, c=20, d=30) #ILZ Ny mexFRITL"

1
2
3 print("b =", b)
4
5
6

(S E R

a={'a': 5, 'b': 0}

b= {'c': 20, 'd': 30}

a=>5

b={'b': 0, 'c': 20, 'd': 30}

5.2.7 ZRRAISEORH GERD

2 R A 2 B0 AT 1 11 3

(1) SESALAH N, WE W] 38 8 07 B A% (8, 0 7T o OC 8 A% (8, (B 7T 28 2 805 i 240
HREIE o S AL — I R S RO e IE S R .

(2) BRBUE S A REIR] I A2 & Z A AR 2R B AT A S 4 BT 2 A4S « SR E A oS
o AHAT R AL SRS 8, B o SRS 40T

(3) MBEA AT AR S5 Bl SO, 23 58 40 3% 58 S BORAE L R K 2 A 0 A7 CTE
A A SR AT AR ZBOR] DA AT AL, I AT AR SRR A

(4) 7 A BRIME I 28U T A BE AL & A OB R 40 B 0] DL 3 ) 28 2480, mT L
J A Ay n] AR RO BN R A

[RB15.12Y & L — %L student_infoO) , B 58 R FA ) 7 A% 8 2 50, 9K 5 V8 3%
SR WL 4

HEEERI03OP
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1 def student info(name, age, * contacts, gender= "%", **others) :

2 print ("="x 10, "EEFEARFLE", "="*10) #4HE

3 print("ﬁiéﬁ:", name)

4 print ("R, age)

5 print ("R ", gender)

6 print ("BERE X", end="")

7 if len(contacts) ==0: # T I 3R O R A

8 print ("™

9 else:

10 for contact in contacts: #2045 B A Bk 3R 07 2 AE — AT AT EP

11 print(contact, end="\t")

12 print()

13 for key, value in others.items():

14 print(key, ":", value)

15 print ("="% 34) # S5 R E &

16 :
17 student info("§K =", 20, "FHl-13823458765", "Q0-876534567", HE =175, &

S

Fr=ryrmgm) ;
18 student_info(x ["IK#™, 19, "Q0-875534597"], gender="%", **{("PlF": "I
K, msEEe: m006")) '

BRI R FHL-13823458765 00-876534567
B o175
W . VLV

W4 . Sk

19

PR L

I £ 7530 : 00- 875534597
4« gk

¢ 1 006
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